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GameCharacter <interface”
. - weapon Weapon
+ attack() : void _
+ setWeapon(weapon : Weapon) : void + attac'zg -+ void
|
r————-- +————— 1

Client + attack() : void | | + attack() : void
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interface Weapon /IRIEH0| A= MAM AHZ &5, 7|62 MY & U= 82
{
public void attack(): //HAME M
}
class Sword implements Weapon{ public void attack(){ System.out.printin("Z4 24"); } }
class Gun implements Weapon{ public void attack(){ System.out. println("z 24", 11}
class GameCharacter{ 1S 27| Mg 7152 H¥sts 2r
private Weapon weapon; //QE{HO| A Weapom_t A A

=2 O
public void setWeapon(Weapon weapon){ this.weapon=weapon; } //27|4& Q24 Q)
public void attack(){
if(weapon==null) System.out.printin("fio2 ZA");
else weapon.attack(): /B AL 7|58 o2 ZaAz 9l
}
}
public class Client{
public static void main(String args[]}{

GameCharacter gamecharacter = new GameCharacter();

gamecharacter.attack(); /&2 ZARY 2717} gl
gamecharacter.setWeapon(new Sword()): //27|& Ao=Z M%
gamecharacter.attack(); /I4E ol&gst 34
gamecharacter.setWeapon(new Gun()): 1718 322 4%
gamecharacter.attack(); /IE£E 0| &s%t 84

}
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